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W Answer the following questions: - ;.,uzé;.myd RO%)
Q.1. Find the area of the shaded region. (1x2=2)
-Q:/?PJJK&J’),:V
2em g =
4ecm
Q.2. Find the area and the perimeter of the given shape. (1x4=4)
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Q.3. Gulzar spent Rs. 250 per square metre to pave the road in the garden.
The garden is 150m long and 9m wide and the road is 3m wide. How
much money did he spend in all? (1x4=4)
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Q.3. Gulzar spent Rs. 250 per square metre to pave the road in the garden.
The garden is 150m long and 9m wide and the road is 3m wide. How
much money did he spend in all? (1x4=4)
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